% g f @.,_,.,J F ba s6 thap phan, tht tu cac phép toan co ddu ngodc

Tén: Ngay thang: _ Diém:_
(3,2-2,4) x5, 1= 4,7—5,4)x4,5=

3,6(4,7—-3,9) = (33,6 -30)+~6 =

(29—-24,5)+5 = (5,4+5)x4,9=

6(6,6 —6,5) = 4,9+3,6)x5,9=

(5,4+5,4)+2= (34,8 +13,2)~6=
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% g f @.,_,.u F ba s6 thap phan, tht tu cac phép toan co ddu ngodc

Tén: Ngay thang: _ Diém: _
(3,2-2,4)x5,1=4.08 4,7—-5,4)x4,5=-3.15
3,6(4,7—3,9)=2.88 (33,6 -30)~6=10.6
(29-24,5)+5=09 (5,4+5)x4,9=150.96
6(6,6 —6,5)= 0.6 (4,9+3,6)x5,9=150.15
(5,4+5,4)+2=54 (34,8+13,2)+-6=28
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